
Particle Physics HW 9 Quiz                 Name__________________ 

You can try both problems below, but you will only receive credit for the most correct solution.   

 
1. Consider the process 𝑒 ൅ 𝜇 ൅ 𝜇ା → 𝑒.  Compute the expression for 〈|𝑀|ଶ〉 to lowest order leaving it 

in terms of traces.   
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Turn over for second problem!! 



2)   Is the singlet state of color |9⟩ ൌ
ଵ

√ଷ
൫𝑟𝑟̅ ൅ 𝑏𝑏ത ൅ 𝑔𝑔̅൯ invariant under the transformation 𝑈 ൌ

൭
0 1 0
1 0 1
0 1 0

൱? How do you know? 


